EAGRAROBREERT — 2 N— ABISH —F

201912790 (A) 8EKIR3H

KM C2=# 5% ECEE R
[AE4£] 17 :200,000"  23#%&:52,000”  33%&:28,000M . 437:20,000MH . 573%&:10,000
& % B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
. N SAS .09, 7 g . — MHEEZ (BE)
1B s | XTFETZH SRN-ic 18 s |87 ’ f_(g) BT
L:ANTz—") B:Ly RKoyO—2a [ed=tie]
. # 3 | HER 1:29.8 3-3-2-2 [39.8| — 2 464 | HIEER] (KIR)
ol |¥—ANT> 56.0 ) 4o) |EmEE
Z:70F—-v B:tlLyvzolU-—FK S 4E
N LA : ~5-5-. — THERE (BRE)
slzlio I rTEZ T -0 i 3 % 1.(330).3 5-5-5-4 | 39.7 1 (4_313) e
iFNT =TI BV AZ2F—-F TEBHS
= ft 3 | BAM 1:30.3 2-2-1-1 | 40.4| — 10 | 433 |HEZX (KR
418(12 KZ2a2T—Ib 54.0 (7€) (7) | BT '
XL TANZ N BN—H—XIN H—L— - JvX> - T7—LARS
. £ 4 | WIAKEE 1:30.5 6-6-7-5 |39.5| — 6 492 | BIME— (KIR)
5156 TRADAF — - 56.0 (1 1/4) (+14) | FIEELX
R:Jr7—3UF7> B:74—2K/T-) [ia=Eae]
e .31 46— . — HEEFE (KR)
6l5l5|EV/N=F 4 g A B A P |xmEmr
LY LTAN—t B:NFLT HIARKS
N A SiEmE . _8-8— — NARE (KIR)
7 Al ¥vvansa—K 4 3 Bk 1.(342).1 7-8-8-9 | 40.6 5 (i??) /UJ\‘F% 7
:7—=UT74—X B:1ELXTITY— LalEnpae]
o o ROE— : -10-9- — HEBFE (KR)
s 2| 77L o #8850 e | T Pl Gy [TEE
L=/ FLLy b BIVE—LTY IR J—H Ty — I
N . L 7 -9-10— . — BIAET (KIR)
9 7 JRILYw R 4 3 an (11 312/23) 10-9-10-10 | 40.6 11 (3:;3) PaNS
LTI UR RN BiAAAY FLIE— HET7—L4
S o o, = GRS :32. -11-11- . — Wi EY (&R
101811 S RS F 4 — 4 8 fd 1(312)5 12-11-11-11] 40.5 7 (4+831) frp- L
L7252 4800 B:7v>F—F74 K HET77—L
L3 4 3 | BARA 1:32.5 1-1-3-7 | 42.7| — 4 503 | 1EEE#EE] (FKR)
EH 3| By bTLITL £54.0 759) G | ) amEEmsRs
LY IRGT4 TR BNCE i/ vie]
S o= o ERRE : -12-12- - REILES] (B%RE)
ol o | v v k570 i o4 e 1.(343).2 11-12-12-12 40.6 12 ;1_8‘3 B
L:a-1>90>r B:Yv RuL—> HET7— L
@ 1—F—@&BIEf
13=zr= 3,12,1,5,10,6,4,8,2,7,9,11
23—+ — 3,12,1,5,10,6,8,4,7,2,11,9
3a—+— 12,1,3,8,10,5,6,4,2,7,11,9
40 —F— 12,1,8,10,6,5,3,2,4,7,11,9
[ RN
B OB 8 350H 714K 1-8 280M e & 1-6 620M 3ER 1-8-10 460M
1 B 8 120/ 8-10 200 B E 1-8 750/ JEH 8-1-10 3,200
1 1004 1-10 260M B H 8-1 1,280
10 110

ARICOVWTRDTEEERROODE. TR LI,




